PART - A
ACCOUNTANCY (Maximum Scores : 40)

I.  Answer the following questions from 1-5, each carries 1 score. (Scores : 5x 1 =5)

Not for profit organisation identifies legacies of small amount as.
{a) Revenue receipts {b)  Capital receipts

{c)  Revenue Payment {d) Capital expenditure

Under fixed capital method all adjustments relating to partners are shown in
ale,

Retirement of partner leads to of the partnership.
(a) dissolution (b) amalgamation

{c) reconstitution (d)  merger

Which mode of dissolution is adopted when the business of the firm becomes
illegal ?

{a) Dissolution by agreement
(b)  Dissolution by court
(¢} Compulsory dissolution

(d) Dissolution on the happening of contingencies.

On dissolution of parinership firm the amount paid for unrecorded liability should
be debited to

(a) Realisation a‘c (b) Revaluation a/c
(c) Cashalc (d) Liability a'c
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11. Gokul and Govind are equal partners. Gokul withdrew T 2.000 per menth from
the business fur his personal use. Interest on drawings is to be charged at 10% per
annum. Caleulate interest on drawings for the year 2016 assuming that money is
withdrawn.

1. Inthe begimning of every month
2. Inthe middle of every month

3. Atthe end of every month

12. Distinguish between Revaluation a/c and Realisation a/c.

IV. Answer any three questions from 13-16, each carries 5 scores. (Scores : I x5=15)
13, Show the treatment of the following items from a Not for protit organisation.
. Legacies of small amount
2. Endowment fund

Sale of fixed asset

Sale of old newspaper

e

Grant for specific purpose

14, Anil and Sunil are partners in a firm sharing profit and losses in the ratio of3:1
Kapil is admitted tor 1/6™ share of profits. He is to bring in T 40,000 as capital
and T 8.000 as his share of soodwill. Give necessary journal entries in the
following cases ;

1. When the amount of goodwill is retained in the business,

2. When 50% of the amount of goodwill withdrawn by the partners.

15. Akhil, Amal and Anand are partners in a firm. Akhil died on 1-1-2010. % 1,00,000
become due to him. Amal and Anand transfer this amount to Akhil's executors
loan we. and promises to pay four yearly instalhments of T 25.000 including
interest @ 10% p.a. on the outstanding balance during the first four years and the
balance including interest in the fifth vear.

Prepare Akhil's executors loan a'e.
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IV. Answer the following question which carries 4 score : (Scores : 4)

10,

Match the following ;

A B
{a) 2% Debentures (1) Share holders fund
(b} [Inventory {2}  Current lability
{¢) Money received against share warrants  (3)  Current Asset
{d) Trade payable 41 Long term borrowings

Answer any three questions from 11— 14, each carries S scores.  (Scores : 3 X 5= 15)

e

12

Differentiate shares from debentures.

KEM Ltd. issued 10,000 12% debentures of T 100 each at & presiua of T 10 per
debenture pavable as

On application - T25
On allotment ~ 45 including premium
On first & final call — T40

The public applied for 12,000 debentures. The excess application were refunded
All money due was received. Record the necessary Joumal entry.

From the following balance Shect of Dev Lud. prepare a comparative halanee
sheet.
£) Particulars Noke 2013 i 2016
No. | March-31 = March-31

|, Equity and Liability
1. Shareholders fund

{a) Share capital 30.00,000 | 40,00.000
(b) Reserve and Surplus £.00,000 | 9.00.000
2, Non-Current liability Debentures 300,000 | 2.50.000
3. Current liability Accounts payable 8,00,000 | 7.50.000
Total 49.00.000 | 59.00.000 |
Il Asscts

1, Non-current assets
{a) Fixed assets

Tangible asset IR.00,000 | 30,00.00K
Intangible asset 12.00,000 | 20.00,000

2. Current assets
Acecounts Receivable 5.00.000 | ~3,00,000
Inventories 3.00,000 450,000
Cash 100,000 150,000

49.00.000 [ 5900000
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Particulars Note 015 2016
No. | March-31 | March-31

1. Equity and Liability
1. Sharcholders fund

{a) Share capital 30,00,000 | 40.00,000
(b) Reserve and Surplus 8,00,000 9,00.000
2. Non-Current liability Debentures 3.00.000 2.50.000
3. Current liability Accounts payable 8.00,000 7,540,000
Taotal 49.00,000 | 59,00,000
Il Assets

1. MNon-current assets
{a) Fixed assets

Tangible asset 28,00,000 | 30,00.000
Intangible asset 12.00,000 | 20,00,000

2. Current assets
Accounts Receivable 5.00,000 3,000,000
Inventories 300,000 4,50, 006
Cash 100, DO 150,000

49,00,000 | 59,00,000

13 P.T.O.



4.

VI. Answer the following guestion which carries 8 scores.

15

From the following statement of profit and
prepare 4 fund flow statement.

loss and additional information.

Details Note |  Amount

I.  Revenue from operation 10,00,000
Total income 10,00.000

1.  Expenses !
Cost of material used 3,00,000
Purchase of stock in trade 300,000
Other expenses 2 00,000
Total expenses 8.00.000
Profit before tax 2.00,000

Additional information :

i

1. Trade receivable decrease by T 20,000 during the year '

2.

Other expenses include depreciation T 30,000,

3. Outstanding expenses increased by 10,000,

{Score : I x8=8)

From the following balance sheet and other information, caleulate the following

ratie.
{a) Current Ratio (b) Liquid Ratio
(e) Proprietary Ratio (d) Debi-equity Ratio
Balance Sheet of Excellent Ltd. for the year ended 31-March-2016
Particulars Note No. Amount (T)
I.  Equity and Liability
1. Share holders funds
(a) Share capital 20,00.000
{b) Reserve & Surplus 13.00.000
2. Non-current liability
Long term bprrowings 10,00,000
3. Current Liabilities
Trade payable 7.00,000
Total 50,00,000
II. Assets
1. Non-Current Asscts
Fixed assets
Tangible assets 26,00,000
2. Current assets
{a) Trade Receivables 10,00,000
{b) Inventories . 2,00,000
(c) Cash and Equivalents 6,00,000
50,040,008
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